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Vierkant
5, y=fkx) = x=1-x? - xX?’+x-1=0 = x=-=-Y+%J/5

Omdat y = x geldt voor de codrdinatenvan T (—Y%+¥4/5; Y+ Y%/ 5)

6. QR=1-p°>—-(1-p?) =p*-p°

[QR]'=2p-3p*=0— p(2-3p)=0 — p=7,

+ —
Controle maximum: [QR]' |
gl
3
Of met de GR: y, = x?-x3
optiemaximum — X = 0.667
7. h'(x) = —10x°, dusraaklijndoor (1,0) is y = -10x +10
Snijpunt met (0,1): -10x+10=1 = x=%, =  S(%:;1)

8. K'(X) = —nx""!, dusragklijndoor (1,0) isy = —-nx + n

I
=

I
=

Snijpuntmet (0,1): -nXx+n=1 —= X

SB < 0,001, dus Y/, < 0,001 = n > 1000

0. Xt = Xg—01 =09 Hetsnijpuntligtdanop 1-(0,9)" = 0,9 (want tevensgelegenop y = X)

Voor n > 22 wordt voldaan aan de voorwaarde.
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